


C> # SCT CG by H.E:

> with(plots):

C># $ 1 hyoutan:

> ¢:=0:for h from 1 to 8 do for e from1 to 5 by 2 do for b from 2 to 2 do
c:=c+1:x:=(e+b)*sin(t)+sin ((1+(-1) "b) *tan (ext) )*sin (t"b) *sin (ithprime (h) *t~

(b+1)) :y:=(e+b)*sin (2%t) +sin ((1+ (-1) "b) *tan (ext) ) *sin (t"b) *cos (i thpr ime (h) *t

“(b+1)) :print(plot ([x,y, t=0..2%Pi], numpoints=10000, axes=none, color=COLOR (RG

B, 0. 1xh, 0. 2%2, 0. 5%1))) :print (No=c, H=h, E=e, B=b, HI=[h, e, b], RGB=[0. 1*h, 0. 2%2, 0.
N 5%1]) :print ([x,y, t=0..2%Pi]) :od:od:od:

No=1,H=1,E=1,B=2, HI=[1, 1, 2], RGB=[0.1, 0.4, 0.5]
[3 sin(t) + sin(2 tan(t)) sin(#*) sin(2 ), 3 sin(2 ¢) + sin(2 tan( ¢)) sin( ) cos(2 ¢*),
t=0..2m]




No=2, H=1, E=3, B=2, HI=[1, 3, 2], RGB=[0.1, 0.4, 0.5]
[5 sin(t) + sin(2 tan(3 ) sin(#) sin(2 #), 5 sin(2 t) + sin(2 tan(3 ¢)) sin(#*) cos(2 ),
t=0..2m]



No=3, H=1, E=5, B=2, HI=[1,5, 2], RGB=[0.1, 0.4, 0.5]
[7 sin(t) + sin(2 tan(5 ¢)) sin(#) sin(2 #), 7 sin(2 t) + sin(2 tan(5 ¢)) sin(#*) cos(2 ),
t=0..2m]
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No=4, H=2, E=1,B=2, HI=[2, 1, 2], RGB=[0.2, 0.4, 0.5]
[3 sin(t) + sin(2 tan(t)) sin( ) sin(3 ), 3 sin(2 ¢) + sin(2 tan( ¢)) sin( ) cos(3 ¢*),
t=0..2m]



No=5, H=2, E=3, B=2, HI=[2, 3, 2], RGB=[0.2, 0.4, 0.5]
[5 sin(t) + sin(2 tan(3 ¢)) sin(#) sin(3 #), 5 sin(2 t) + sin(2 tan(3 ¢)) sin(#*) cos(3 ),
t=0..2m]



No=6, H=2, E=5, B=2, HI=[2,5, 2], RGB=1[0.2, 0.4, 0.5]
[7 sin(t) + sin(2 tan(5 ¢)) sin(#) sin(3 ), 7 sin(2 t) + sin(2 tan(5 ¢)) sin(#*) cos(3 ),
t=0..2m]



No=17, H=3, E=1, B=2, HI=[3, 1, 2], RGB=[0.3, 0.4, 0.5]
[3 sin(t) + sin(2 tan(t)) sin( ) sin(5 ), 3 sin(2 ¢) + sin(2 tan( ¢)) sin( ) cos(5 t*),
t=0..2m]



No=8, H=3, E=3, B=2, HI=[3, 3, 2], RGB=[0.3, 0.4, 0.5]
[5 sin(t) + sin(2 tan(3 ) sin(#) sin(5 #), 5 sin(2 ¢) + sin(2 tan(3 ¢)) sin(#*) cos(5 ),
t=0..2m]



No=9, H=3, E=5, B=2, HI=[3,5, 2], RGB=[0.3, 0.4, 0.5]
[7 sin(t) + sin(2 tan(5 ¢)) sin(#) sin(5 #), 7 sin(2 t) + sin(2 tan(5 ¢)) sin(#*) cos(5 ),
t=0..2m]
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No=10, H=4, E=1, B=2, HI=[4, 1, 2], RGB=1[0.4, 0.4, 0.5]
[3 sin(t) + sin(2 tan(¢)) sin( ) sin(7 £*), 3 sin(2 ¢) + sin(2 tan(t)) sin(£*) cos(7 ¢*),
t=0..2m]



=[0.4, 0.4, 0.5]

[4,3,2], RGB
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D AR
N
M &\\. !
’tlll‘ \ G
e

5 sin(2 t) + sin(2 tan(3 ¢)) sin( ) cos(7

4, E=3, B=2, HI

11, H

No

[5 sin(¢) + sin(2 tan(3 ¢)) sin(#) sin(7 ¢*),

0. 2mn]

t




No=12, H=4, E=5, B=2, HI=1[4, 5, 2], RGB=[0.4, 0.4, 0.5]
[7 sin(t) + sin(2 tan(5 ¢)) sin(#) sin(7 ), 7 sin(2 t) + sin(2 tan(5 ¢)) sin(#*) cos(7 ),
t=0..2m]



0.5]

[3 sin(t) + sin(2 tan(¢)) sin(#*) sin(11 #), 3 sin(2 ¢) + sin(2 tan(¢)) sin( £*) cos(11

b

0.4

[0.5,

[5,1,2], RGB

1, B=2, HI=

13, H=5, E=

No =

)

&)

0. 2mn]

t
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0.5, 0.4, 0.5]

5 sin(2 t) + sin(2 tan(3 ¢)) sin( £) cos(11

[5,3,2], RGB

3, B=2, HI=

5, E=

[5 sin(¢) + sin(2 tan(3 ¢)) sin( ) sin(11 ¢*)

14, H=

No =

£),

)

t=0..2m]




0.5, 0.4, 0.5]

7 sin(2 t) + sin(2 tan(5 ¢)) sin(#) cos(11

[5,5,2], RGB

5, B=2, HI=

5, E=

[7 sin(¢) + sin(2 tan(5 ¢)) sin(#) sin(11 %),

15, H=

No =

£),

0. 2mn]

t




No=16, H=6, E=1, B=2, HI=[6, 1, 2], RGB=[0.6, 0.4, 0.5]
[3 sin(t) + sin(2 tan(t)) sin(#) sin(13 #), 3 sin(2 t) + sin(2 tan(¢)) sin( ) cos(13 #*),
t=0..27]
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No=17, H=6, E=3, B=2, HI=[6, 3, 2], RGB=[0.6, 0.4, 0.5]

[5 sin(¢) + sin(2 tan(3 ¢)) sin(#) sin(13 ), 5 sin(2 ¢) + sin(2 tan(3 ¢)) sin( ) cos(13 *),
t=0. 27|
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0.6, 0.4, 0.5]

7 sin(2 t) + sin(2 tan(5 ¢)) sin(#) cos(13

(6, 5,2], RGB

5, B=2, HI=

6, £E=

[7 sin(¢) + sin(2 tan(5 ¢)) sin(#) sin(13 ¢*),

18, H=

No =

£),

0. 2mn]

t



No=19, H=7, E=1, B=2, HI=[17,1, 2], RGB=[0.7, 0.4, 0.5]
[3 sin(t) + sin(2 tan(t)) sin(#) sin(17 #), 3 sin(2 t) + sin(2 tan(¢)) sin( ) cos(17 ),
t=0..27]
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[0.7, 0.4, 0.
5 sin(2 t) + sin(2 tan(3 t)) sin( £) cos(17 ),

[7,3,2], RGB

3, B=2, HI=

[5 sin(¢) + sin(2 tan(3 ¢)) sin( ) sin(17 ¢*)

7, E=

No=120, H=

)

=0. 2mn]

t




(0.7, 0.4, 0.5]

7 sin(2 t) + sin(2 tan(5 ¢)) sin( ) cos(17

[7,5,2], RGB

5, B=2, HI=

21, H=1, E=

No =
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0. 2mn]

[7 sin(¢) + sin(2 tan(5 ¢)) sin(#) sin(17 %),
t
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3 sin(2 t) + sin(2 tan(¢)) sin( ) cos(19

0.

b

4

0.

=[0.8,

[8,1,2], RGB

1, B=2, HI=

[3 sin(¢) + sin(2 tan(¢)) sin(#) sin(19 ¢*),

8, E=

No=122, H=

)
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.27

=0
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No=23, H=8, E=3, B=2, HI=[8, 3, 2], RGB=[0.8, 0.4, 0.5]
[5 sin(t) + sin(2 tan(3 ¢)) sin(#*) sin(19 #), 5 sin(2 ¢) + sin(2 tan(3 ¢)) sin( £*) cos(19 ),
t=0..27]
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0.8, 0.4, 0.5]

7 sin(2 t) + sin(2 tan(5 ¢)) sin(#) cos(19

(8, 5,2], RGB

HI=

2,

in(¢) + sin(2 tan(5 ¢)) sin( ) sin(19 ¢*),

5, B=

No=24, H=8, E=

£),

[7s

.27

=0

t




C> # SCT CG by H.E:

[> with(plots):

C>#$ 2 FACE:

> c:=0:for h from 1 to 4 do for e from1 to 3 do for b from 1 to 2 do
c:=c+l:x:=(b+1)*sin(t)+sin(tan(ext))*sin (t)*sin (ithprime (h)*t" (b+1)) :y:=(e+

b) *cos (t) +sin (tan (ext) ) *sin (t) *xcos (ithprime (h)*t” (b+1)) :print (plot ([x, y, t=

0..2%Pi], numpoints=10000, axes=none, thickness=2, color=COLOR (RGB, 0. 4xb, 0. 2%2,

0.5%1))) :print (No=c, H=h, E=e, B=b, HI=[h, e, b], RGB=[0. 4*b, 0. 2%2, 0. 5%1]) :print
N ([x,y, t=0..2%Pi]) :od:od:od:

No=1, H=1,E=1,B=1, HI=[1,1, 1], RGB=1[0.4, 0.4, 0.5]
[2 sin(¢) + sin(tan( ¢)) sin(¢) sin(2 ), 2 cos(t) + sin(tan(¢)) sin(¢) cos(2 ), t=0.. 2 1]




No=2,H=1,E=1,B=2, HI=

[0.8, 0.4, 0.5]

[1,1,2], RGB

[3 sin(t) + sin(tan(¢)) sin(¢) sin(2 ), 3 cos(t) + sin(tan(¢)) sin(¢) cos(2 ¢

=0. 27]

O, t




No=3, H=1,E=2,B=1, HI=[1,2,1], RGB=1[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(2 ¢)) sin(¢) sin(2 ), 3 cos(t) + sin(tan(2 ¢)) sin(t) cos(2 ),
t=0. 2m]
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No=4, H=1, E=2, B=2, HI=

[0.8, 0.4, 0.5]

[1,2,2], RGB

[3 sin(t) + sin(tan(2 ¢)) sin(¢) sin(2 ¢*), 4 cos(t) + sin(tan(2 ¢)) sin(t) cos(2 ),

t=0..2m]
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No=5, H=1, E=3, B=1, HI=[1, 3, 1], RGB=1[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(3 ¢)) sin(¢) sin(2 %), 4 cos(t) + sin(tan(3 ¢)) sin(t) cos(2 ),
t=0. 2m]



No=6, H=1, E=3, B=2, HI=[1, 3, 2], RGB=[0.8, 0.4, 0.5]
[3 sin(t) + sin(tan(3 ¢)) sin(¢) sin(2 ¢3), 5 cos(t) + sin(tan(3 ¢)) sin(t) cos(2 ),
t=0..2m]



No=7, H=2, E=1,B=1, HI=[2, 1, 1], RGB=1[0.4, 0.4, 0.5]
[2 sin(¢) + sin(tan( ¢)) sin(¢) sin(3 ), 2 cos(t) + sin(tan(¢)) sin(¢) cos(3 ), t=0.. 2 1]



No=8, H=2,E=1, B=2, HI=

[0.8, 0.4, 0.5]

[2,1,2], RGB

[3 sin(t) + sin(tan(¢)) sin(¢) sin(3 ), 3 cos(t) + sin(tan(¢)) sin(¢) cos(3 ¢

=0. 27]

O, t




No=9, H=2, E=2, B=1, HI=[2,2, 1], RGB=1[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(2 ¢)) sin(¢) sin(3 ), 3 cos(t) + sin(tan(2 ¢)) sin(t) cos(3 ),
t=0. 2m]



0.8, 0.4, 0.5]

[3 sin(t) + sin(tan(2 ¢)) sin(¢) sin(3 ¢3), 4 cos(t) + sin(tan(2 ¢)) sin(t) cos(3 ),

[2,2,2], RGB

10, H=2,E=2, B=2, HI=

No =

t=0..2m]



No=11, H=2,E=3,B=1, HI=[2,3, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(3 ¢)) sin(¢) sin(3 %), 4 cos(t) + sin(tan(3 ¢)) sin(t) cos(3 ),
t=0. 2m]



, 0.5]

0.4

b

[0.8

[3 sin(t) + sin(tan(3 ¢)) sin(t) sin(3 ¢3), 5 cos(t) + sin(tan(3 ¢)) sin(¢) cos(3

[2,3,2], RGB

12, H=2, E=3, B=2, HI=

No =

)

)

0. 2mn]

t




No=13, H=3,E=1,B=1, HI=[3,1, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(¢) + sin(tan( ¢)) sin(¢) sin(5 ), 2 cos(t) + sin(tan(¢)) sin(¢) cos(5 ), t=0 .. 2 1]



, 0.5]

0.4

b

[0.8

[3 sin(t) + sin(tan(¢)) sin(¢) sin(5 ), 3 cos(t) + sin(tan(¢)) sin(¢) cos(5 ),

[3,1,2], RGB

2, HI=

No=14, H=3, E=1, B=

0. 2n]

t




No=15, H=3,E=2,B=1, HI=[3,2, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(2 ¢)) sin(¢) sin(5 ), 3 cos(t) + sin(tan(2 ¢)) sin(t) cos(5 ),
t=0. 2m]
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0.8, 0.4, 0.5]

[3 sin(t) + sin(tan(2 ¢)) sin(t) sin(5 ¢*), 4 cos(t) + sin(tan(2 ¢)) sin(t) cos(5 ¢*)

[3,2,2], RGB

16, H=3, E=2, B=2, HI=

No =

)

0. 2mn]

t



No=17, H=3, E=3,B=1, HI=[3, 3, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(3 ¢)) sin(¢) sin(5 %), 4 cos(t) + sin(tan(3 ¢)) sin(t) cos(5 ),
t=0. 2m]



, 0.5]

0.4

b

[0.8

[3 sin(t) + sin(tan(3 ¢)) sin(t) sin(5 ¢3), 5 cos(t) + sin(tan(3 ¢)) sin(¢) cos(5

[3,3,2], RGB

18, H=3, E=3, B=2, HI=

No =

)

)

0. 2mn]

t
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No=19, H=4,E=1,B=1, HI=[4,1, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(¢) + sin(tan( ¢)) sin(¢) sin(7 ), 2 cos(t) + sin(tan(¢)) sin(¢) cos(7 ), t=0.. 2 1]
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, 0.5]

0.4

b

[0.8

[3 sin(t) + sin(tan(¢)) sin(¢) sin(7 #), 3 cos(t) + sin(tan(¢)) sin(¢) cos(7 ), t

(4,1, 2], RGB

2, HI=

1, B=

4, E=

H

b

No =20

0. 2n]




No=21, H=4,E=2,B=1, HI=[4,2, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(2 ¢)) sin(¢) sin(7 ), 3 cos(t) + sin(tan(2 ¢)) sin(t) cos(7 ),
t=0. 2m]
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(4, 2, 2], RGB

0.8, 0.4, 0.5]

[3 sin(t) + sin(tan(2 ¢)) sin(¢) sin(7 ¢3), 4 cos(t) + sin(tan(2 ¢)) sin(t) cos(7 *)

No=22, H=4, E=2, B=2, HI=

)

t=0..2m]



No=23, H=4, E=3,B=1, HI=[4, 3, 1], RGB=[0.4, 0.4, 0.5]
[2 sin(t) + sin(tan(3 ¢)) sin(¢) sin(7 ), 4 cos(t) + sin(tan(3 ¢)) sin(t) cos(7 ),
t=0. 2m]
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[3 sin(t) + sin(tan(3 ¢)) sin(t) sin(7 3), 5 cos(t) + sin(tan(3 ¢)) sin(t) cos(7 ),

| t=0. 2m]
L>



# SCT CG by H.E:

with(plots) :

#$ 2 DOG Foot:

¢:=0:for h from 3 to 8 do for e from1 to 4 do for b from 2 to 2 do
c:=c+1:x:=t+8%cos (t) +cos (8*t) +sin (tan (ext/2) ) *kcos (t” (b+1) /3) /2:y:=t+8%sin (t)
-sin(8%t)+sin(tan(ext/2))*sin(t” (b+1)/3) /2:print (plot ([x,y, t=0..2%Pi], numpoi
nts=10000, axes=none, thickness=2, color=COLOR (RGB, 0. 4%b, 0. 2%2, 0. 5%1))) :print (N
o=c, H=h, E=e, B=b, HI=[h, e, b], RGB=[0. 4%b, 0. 2%2, 0. 5%1]) :print ([x, y, t=0..2%Pi]) :0
N d:od:od:

L >
L >
L >
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No=1,H=3,E=1,B=2, HI=[3, 1, 2], RGB=[0.8, 0.4, 0.5]

[ t+8 cos(t)+ cos(8 t) +l sin(tan(—tj) cos[t—?)j
2 2 3)
t+ 8 sin(¢) —sin(8 t) +l sin(tan(ijj sin(t—gj, t=0..2 TC:|
2 2 3
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No=2, H=3, E=2, B=2, HI=[3, 2, 2], RGB=[0.8, 0.4, 0.5]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(¢)) cos[%j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(¢)) sin(;), t=0..2 n}



No=3, H=3, E=3, B=2, H[=[3, 3, 2], RGB=[0.8, 0.4, 0.5]

st wonts o {5 o
t+ 3 cos(t)+cos t+2sm tan 9 cos 3 )

. . 1. 3t)) (¢
t+ 8 sin(¢) — sin(8 t)+551n tanT smg,t=0..2n



P
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No=4, H=3, E=4, B=2, HI=[3, 4, 2], RGB=[0.8, 0.4, 0.5]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(2 ¢)) cos[%),

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(2 ¢)) sin(;), t=0..2 n}



No=5, H=4, E=1, B=2, HI=[4, 1, 2], RGB=[0.8, 0.4, 0.5]

st scosts o Ll ] o 5
t+ 3 cos(t)+cos t+281n tan 9 cos 3 )

. . 1 t (&
t+ 8 sin(¢) — sin(8 t)+gsm tan 3 sin ? ,t=0..2m
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No=6, H=4, E=2, B=2, HI=[4, 2, 2], RGB=[0.8, 0.4, 0.5]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(¢)) cos[%j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(¢)) sin(;), t=0..2 n}



No=T7, H=4, E=3, B=2, HI=[4, 3, 2], RGB=[0.8, 0.4, 0.5]

st wonts o {5 o
t+ 3 cos(t)+cos t+2sm tan 9 cos 3 )

. . 1. 3t)) (¢
t+ 8 sin(¢) — sin(8 t)+551n tanT smg,t=0..2n
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No=8, H=4, E=4, B=2, HI=[4, 4, 2], RGB=[0.8, 0.4, 0.5]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(2 ¢)) cos[%),

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(2 ¢)) sin(;), t=0..2 n}



No=9, H=5, E=1, B=2, HI=[5, 1, 2], RGB=[0.8, 0.4, 0.5]

et scosts 00 ] cof
t+ 3 cos(t)+cos t+281n tan 9 cos 3 )

. . 1 t (&
t+ 8 sin(¢) — sin(8 t)+gsm tan 3 sin ? ,t=0..2m
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No=10, H=5, E=2, B=2, HI=[5, 2, 2], RGB=[0.8, 0.4, 0.5]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(¢)) cos[%j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(¢)) sin(;), t=0..2 n}



No=11, H=5, E= HI=[5,3,2], RGB=10.8, 0.4, 0.5]

B=2,
[ t+8cos(t)+cos(8¢t)+— sm(tan jj ( j
t+8sin(t)—sin(8 t) +— sm(ta [%D (%J, t=0..2 n}
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No=12, H=5, E=4, B=2, HI=[5, 4, 2], RGB=[0.8, 0.4, 0.5 ]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(2 ¢)) cos[%),

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(2 ¢)) sin(;), t=0..2 n}



No=13, H=6, E=1, B=2, HI=[6, 1, 2], RGB=[0.8, 0.4, 0.5]

et scosts 00 ] cof
t+ 3 cos(t)+cos t+281n tan 9 cos 3 )

. . 1 t (&
t+ 8 sin(¢) — sin(8 t)+gsm tan 3 sin ? ,t=0..2m
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No=14, H=6, E=2, B=2, HI=[6, 2, 2], RGB=[0.8, 0.4, 0.5 ]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(¢)) cos[%j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(¢)) sin(;), t=0..2 n}



No=15, H=6, E= Hi=1[6,3, 2], RGB=1[0.8, 0.4, 0.5]

B=2,
[ t+8cos(t)+cos(8¢t)+— sm(tan jj ( j
t+8sin(t)—sin(8 t) +— sm(ta [%D (%J, t=0..2 n}



|

-/;'\47

No=16, H=6, E=4, B=2, HI=[6, 4, 2], RGB=[0.8, 0.4, 0.5]

1 £
t+8 cos(t)+ cos(8 t) +§ sin(tan(2 ¢)) cos[?j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(2 ¢)) sin(;), t=0..2 n}



No=17, H=17,E=1, B=2, HI=[7, 1, 2], RGB=[0.8, 0.4, 0.5 ]

st scosts o Ll ] o 5
t+ 3 cos(t)+cos t+281n tan 9 cos 3 )

. . 1 t (&
t+ 8 sin(¢) — sin(8 t)+gsm tan 3 sin ? ,t=0..2m



L
Gl
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No=18, H=17, E=2, B=2, HI=[7, 2, 2], RGB=[0.8, 0.4, 0.5]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(¢)) cos[%j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(¢)) sin(;), t=0..2 n}



No=19, H=17, E= HI=1[17,3,2], RGB=10.8, 0.4, 0.5]

B=2,
[ t+8cos(t)+cos(8¢t)+— sm(tan jj ( j
t+8sin(t)—sin(8 t) +— sm(ta [%D (%J, t=0..2 n}



|

-/;'\47

No=20, H=7, E=4, B=2, HI=[7, 4, 2], RGB=[0.8, 0.4, 0.5]

1 £
t+8 cos(t)+ cos(8 t) +§ sin(tan(2 ¢)) cos[?j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(2 ¢)) sin(;), t=0..2 n}



No=21, H=8, E=1, B=2, HI=[8, 1, 2], RGB=[0.8, 0.4, 0.5 ]

et scosts 00 ] cof
t+ 3 cos(t)+cos t+281n tan 9 cos 3 )

. . 1 t (&
t+ 8 sin(¢) — sin(8 t)+gsm tan 3 sin ? ,t=0..2m



L
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No=22, H=8, E=2, B=2, H[=[8, 2, 2], RGB=[0.8, 0.4, 0.5 ]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(¢)) cos[%j,

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(¢)) sin(;), t=0..2 n}



No=23, H=8, E= HI=[8,3,2], RGB=10.8, 0.4, 0.5]

B=2,
[ t+8cos(t)+cos(8¢t)+— sm(tan jj ( j
t+8sin(t)—sin(8 t) +— sm(ta [%D (%J, t=0..2 n}



-/;'\47

No=24, H=8, E=4, B=2, HI=[8, 4, 2], RGB=[0.8, 0.4, 0.5 ]

3
[ t+8 cos(t)+cos(8 t) +% sin(tan(2 ¢)) cos[%),

1 £
t+ 8 sin(¢) —sin(8 t) +5 sin(tan(2 ¢)) sin(;), t=0..2 n}

L>



